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Solving Linear Systems by Graphing
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an equation that relates two variables so that ordered

Linear System — two or more

How many ways can two lines meet?

pairs satisfying the equation form a straight line on a graph
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that are considered at the same time
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When we say “solve” a linear system, we mean _F ind the porat DP Intecsection

POT

——

interseCion  point

, the point where two lines cross, or the point that

satisfies both equations.

The equations for two lines arelx -y = —1 |anc|
A

of equations.
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Solve the system
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Check if your solution is correct: C?)_ 4> — Whkea A =3 vy = {_
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Example 2 Brian and Catherine want to rent a banquet hall for their wedding. Party Hall
charges $50 per person. Super Cheap Hall charges a fixed rate of $2000, plus

$30 per person. let 9 be Nium be ¢ o F’&-UP'L&. ((__i_
a) When is the cost the same? let Y be (0%t
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b) If Brian and Catherine expect to have 80 people, which hall is the better option for ( (

them?

Pacty Hall

c) Under what conditions would you recommend Party Hall? Under what conditions would
you recommend Super Cheap Hali? <

I‘F less than 100 people »a:;ld" chow up, tea WC chould uee farty Hall,
If you kaow that mort Thna lo0 peofta wowlé E.L\cw up then L/(M Use

Example 3 & OO Super Cheap,
Graphthelinesy = 3x + 4 and P

2y — 6x = —10. — (B)
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What is the POI?

None becunse tey are
pucallel to each other
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Example 4
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1. Onthe same grid graph the lines x -+ 2y =

y-intercepts.
@ Lint ¢ gyb y=0 - @
14(2:0) =4
A =4 (4,0)
Yt: subA=0 =@  (9,2)
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a) Whatis the POI?

everywhet ov Wbinite # of points

b} How are the equations related?

They ot te Some.

...........
gmmrqraa
+
4
]
|
£
......

......

..............................
.........

a) How are the graphs related?

They art tle Same.

b) How are the equations related?

St

The graphs in example 4 are called

equivaleat linear
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1. a} Without graphing, figure out which two of the following are equivalent linear
equations.

y-x+5 =20 y = 3x + 15 2y = 2x- 10

2. Which one of the following is not equivalent to the others?

2x -4y = 8 y =-x-2 2y-x-4 =0

3. Write an equivalent relation for each of the following:

a)2x + 2y = 12 blx + y =4 Ay =2/3x + 1

Equivalent Linear Systems
Compare the following linear systems:

Linear System 1 Linear System 2
y=x-1 2x~-2y-2 =20
7
1 2y + x = 4
y=—-5x + 2

How do you think the POls of the systems would compare? Why?

Homework: pg. 60#(1-4), 5, 7-9 The ones in the bracket are optional
Pg. 70 #1-4, 5EOQ, 6, 16 Thinking Practice: 17, 21-23



